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exp: exp '+' exp { result += val[2] }

exp '-'exp { result -=val[2] }

exp "*' exp { result *= val[2] }

exp /' exp {result /= val[2] }

'("exp ') {result =val[1] }

' NUMBER =UMINUS { result = -val[1] }

NUMBER
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rule rule BB TIEHDH, HhY
target: exp BEBR7E3E target: exp PP, EHOEIAR
| /* none */ { result=0} | /* none */ { result=0} NEohfzLE ELLM
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exp: exp '+ exp { result += val[2] } exp: exp '+ exp { result += val[2] } <ands
| exp''exp {result-=val[2]} | exp'-'exp {result-=val[2]}
| exp "™ exp { result *= val[2] } | exp ™ exp { result *= val[2] }
| exp'"exp {result/=vall2] } | exp'"exp {result/=vall2] }
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exp: exp '+ exp { result += val[2] } exp: exp '+ exp { result += val[2] }
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exp: exp '+ exp { result += val[2] }
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exp: exp '+ exp { result += val[2] }

| exp ™ exp { result *= val[2] } E | exp ™ exp { result *= val[2] } E
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—EEITERYET —EEITERYET
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exp: exp '+ exp { result += val[2] } /l\
| exp'-'exp {result-=val[2] }
| exp ™ exp { result *= val[2] } /l\ \
| '(exp') {result=val[1]} E NUM
| NUMBER l l
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« {5: 3881 E == E + E OEEE == prec(+)
« shift-reduce conflict M #ZHE A i%:

— prec(terminal) > prec(rule) ==> shift

— prec(terminal) < prec(rule) ==> reduce

— prec(terminal) = prec(rule) ==>
« assoc(terminal) = left ==> reduce
« assoc(terminal) = right ==> shift
« assoc(terminal) = nonassoc ==> T5—
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prechigh
nonassoc UMINUS
left B
left R
preclow
rule
target: exp
| /* none */ { result =0}

exp: exp '+ exp { result += val[2] }
exp '-'exp {result-=val[2]}

| exp ™ exp { result *= val[2] }

| exp'"exp {result/=vall2] }

| '("exp') {result=val[1]}

| 'NUMBER =UMINUS { result = -val[1] }
| NUMBER
d
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left [
preclow

AT EIHERE T AN e Bk prec(™') > prec('+')
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left o

left s
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PACATE L5 o i\ S whk prec(™) > prec(+')
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prechigh
nonassoc UMINUS
left ey
left L
preclow
AT HRIEZAE T AN eereerrersenreenns ok prec(‘+') = prec(')
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prechigh
nonassoc UMINUS
left ey
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preclow
AT HRIEZAE T AN eeveerrersenreenns o B prec(‘+') = prec(-')
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left e
left e
preclow & E
rule
target: exp LE
| /% none */{result=0}

exp: exp "+ exp { result += val[2] } E56%10 7
exp -'exp {result-=val[2] }
exp "™ exp { result *= val[2] }
exp '"exp {result/=val[2] }
‘('exp') {result=val[1]}

|
|
|
|
| 'NUMBER {result = -val[1] }
|

£ —4l

prechigh

left o
left o
preclow =k
rule
target: exp LE
| /% none */{result=0}

exp: exp "+ exp { result += val[2] } E313%M 2
exp -'exp {result-=val[2] }
exp ™ exp { result *= val[2] }
exp '"exp {result/=val[2] }
‘('exp') {result=val[1]}
“'"NUMBER ({result = -val[1] }
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NUMBER NUMBER
B1E BIE
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rule rule
target: exp 2 E target: exp 2 E
| /* none */{result=0} | /% none */{result=0}
exp: exp "+ exp { result += val[2] } E5HMm? exp: exp "+ exp { result += val[2] } E375?

exp -'exp {result-=val[2] }

exp "™ exp { result *= val[2] }

exp '"exp {result/=val[2] }

‘('exp') {result=val[1]}

- NUMBER =UMINUS { result = -val[1] }

|
|
|
|
|
| NUMBER

exp -'exp {result-=val[2] }

exp ™ exp { result *= val[2] }

exp '"exp {result/=val[2] }

‘('exp') {result=val[1]}

" NUMBER =UMINUS { result = -val[1] }
NUMBER

prec('-") > prec( ') ==> REDUC|




BH bYW A else (dangling else)

. X
S:=ifEthenSelse S
S:=ifEthenS
S:u=..

 {5IRE: if athenif b then S else S
— f&#7 1: if a then (if b then S else S)
— f## 2: if a then (if b then S) else S

» Raccl shift-reduce conflict Z$i&
— F74—/Lk: shift (BHDED)

BH A BYA else (dangling else)

. &
S:=ifEthenSelse S
S:=ifEthen S
Su=..

o BfE: GEDESHAR:
S:=M
S:=U
M ::= if E then M else M
M:= ..

U:=ifEthen S

U = if E then M else U

Racc DT 74— ILEEIE

» Shift-Reduce conflict
— shift

» Reduce-Reduce conflict
- WD AT reduce
- —RBIICIE. ARBD/NT !




